Lesson 2-5

Exit Ticket

Name

1a. What Is the sum?
342+ 571 =

1b. Which Is a correct statement about the sum?
A. The sum Is even because 342 is even.
The sum Is odd because 571 Is odd.

The sum Is even because both addends are even.
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The sum Is odd because one addend Is even and the
other Is odd.

2. Which equations will result In an even answer? Choose all
that apply.

AL 213+ 457=7 B. 594 +361=7
C. 376 +152=7 D. 429+ 265 =7

3. Mr. Henn's third and fourth grade classes completed an
odd number of sclence fair projects. Which expressions could
show the number of projects they completed? Choose all
that apply.

A. 103 + 261 B. 115+ 253
C. 202+ 189 D. 246 + 157
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